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Assistant Agricultural Officer Exam 2021
Mental Ability Questions with Solution

> T

1. On a palm tree of height 32 cubit, a chameleon tried to reach the top of the
tree. If it climbed one hand span on it but slipped four fingers on one day.
How many days will it take to reach the top of the tree?

a. 96 days b. 69 days c. 94 days d. 64 days

e. Answer not known

32 (b 2 LU UmeIoFHHeL, uFCHMHE @eim by 2 FHoowl el Ul

(PWOHBH. @ HT6THE 6 FTewl gnl BTey aljed SHC EBmIGHIHMH 61660
wy o Ffeow emLwl uFCFTHI 616HHMEN BHI6THMeNT 61(BSHHIHCHT6ITEHLD?

a. 96 [BI6EHe6T b. 69 Breiaei C. 94 BeIH6I d. 64 preiser
d. aflewL Gpfuielsvensw

Solution:
1 hand Span = 12 fingers
1 Cubit = 2 hand spans
= 24 fingers
Height of the palm tree =  32cubit =32x24
Fingers = 768 fingers
Distance climbed in 1 day
1 hand span = 12 fingers distance slipped in 1 day = 4 fingers

Actual distance climbed in 1 day = 12 - 4 = 8 fingers
Number of days required to climb the top of the tree
=12 - 4 = 8 fingers
Number of days required to climb the top of the tree
= 768/8 = 96 days.
[(Number System) 6th Term II School Book - Pg.No: 29]

1P age APPULONIODY GENIRE PH: U44-Z435943b, 4Z8b 7009, 964U0ZZBIGT



|APR€> L0 |

CHENNAI

2. P,Q R, Sand T are sitting in a circle facing the centre. If R is immediate left
of T and P is between S'and T, who is to the immediate left of R?
a.P b.Q c.S d. T d. Answer not known

R Al LHFe, L eowHmsd GCprad P, Q, R, S wmpmid T oua@uimi
slombgleenet. T eeaueaumbE SLiyB SGSSUUWTSE R eeueamd, S
s T gau Smaumssd Qe B P aesaumd SIOTHSmLILTTS6T  6T6llen,
R aemaumesEd SLiLBD SIBSSUILIQUITES SIDTHEHIETEN HUT WmT?

a.P b.Q c.S dT d. elewr Ggflweailsvensv

Solution:

Q

R
Q is the immediate left of R.

[(Seating Arrangement) R.S. Agarwal Model - Puzzle]

3. The value of a motor cycle 2 years ago was I 60,000. It depreciates at the rate
of 5% per annum. Find its present value.

a.< 54,000 b. ¥ 54,050 c. 354,500 d.T 54,150
e. Answer not known

B FhHEH] ATHND @mer alme 2 YMIBGBEHEEH (PST <X 60,000 | Db
Bobsz. ol wII  AEECHMID 5%  elpD  GOBSBH. DB
SBCUTMSHW FHImLIS SHTENISH.

a. < 54,000 b. I 54,050 c.<X 54,500 d.< 54,150

e. alemL G Mwalsvenev

Solution:

60000 9—5><2 =54150
100 100

[(Compound Interest) 8th Term - 2 New School Book - Model - Pg.No: 22]
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A and B invest in a business in the ratio 3 : 2. If 5% of the total profit goes to
charity and A’s share is X 855, then the total profit is

a.31,425 b.X 1,576 ¢.< 1,500 d.<1,637.50

e. Answer not known

A vppib B @maum e@m Oamfled OaTLms 3 : 2 e aldssHHeo (1WHesd
QFUIGI6TTENT6OTT. ALY Be0mLISHFH 60 5% QTemt(H HBIeIeISHSHBE
IPRIBILGHBSE. oBEId A &1 Uk I 855 eafled QOTHEH @eOTLID 6reies?

a.<X 1,425 b.X 1,576 c.< 1,500 d.<1,537.50

e. alemL G flwalevensv

Solution:
Initial Profit = 100%
Remaining = 95%

95x%=57:(A)

57 855
100 X
x = 1500

[(Ratio/Proportion) R.S. Agarwal Book]

The HCF of two numbers is 2 and their LCM is 154. If the difference
between the number is 8 then the sum is

a. 26 b. 36 c. 46 d. 56

e. Answer not known

& elemisener  10.6el. 2  Bmd Seuppller 6., 154 Seueildm
ol ehdbHlenL_Bul o eiten Coumium@ 8 eleled SleuBMledt Fn(HdHe0

a. 26 b. 36 c. 46 d. 56

e. alewL  OFfwalsvensv

Solution:
LCM x HCF = ab
154 x 2 = 308
axb=308 @ -——- (1)
a-b=8 - (2)
Equal (1) & (2)
We get
a=22
b =14
agtb =22 +14 = 36
[(L.C.M /H.C.F) 6t Term 2 School Book - Pg.No: 21]
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Which of the following cannot be the HCF of two numbers whose LCM is
1207

a. 60 b. 40 c. 80 d. 30

e. Answer not known

120-; 8.8, — &d OFmewi Eh 6I6wIBEHHGSGL LlaeUbld 6lhd  6T6xI6wIT6ISH]
SlaupBiler 15.0U.61.-915 QHES BUIe0THI.

a. 60 b. 40 c. 80 d. 30

e. allewL  OFflwealedensv

Solution
From Option
Multiple of 80 is not 120.
[(L.C.M/H.C.F) 6th Term 2 School Book - Pg.No: 21]

By selling a bicycle for X 4,275, a shopkeeper loses 5% for how much should
he sell it to have a profit of 5%?

a.34, 625 b.X 4,725 c.3 4,825 d.< 4,925

e. Answer not known

O SHeUemTy QMBI BMLEHMT X 4,275 & alBUSTED DQUHBEG 5% BHLLID
gBUGEBH eieiled 5% eomud OuB CeuewiGOwafled ST LOFeUeTTIgENUI  6T65T60T
alewevdd alBed Geuemi(hLd?

a.34,625 b. 4,725 c.3 4,825 d.< 4,925

e. allewl  OFfluialedensv

Solution:

42;5 «105 = 4725

[(Profit/loss) 8t Term 2 School Book - Pg.No: 10]

A number when decreased by 20% gives 80. Find the number.
a. 40 b. 60 c. 100 d. 120
e. Answer not known

Q@ eewianal 20% GMBHIST® 80 HLEHDBGH 60  OibFH TGN
SBITE0IE.

a. 40 b. 60 c. 100 d. 120
e. alowL.  OFMwalsdensy

4]
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100% =
[(Percentage) 8th Term 2 School Book - Pg.No: 8]

If the median of a, 2a, 4a, 6a, 9a is 8. Then find the value of ‘a’

a.8 b. 6 c.2 d. 10

e. Answer not known

a, 2a, 4a, 6a, 9a ®e1 AL Hened 8 eleIBTeL ‘@’ BT BeMLHeN6VUI6N6)
a.8 b. 6 c.2 d. 10

e. alemL  OFflwalevensv

Solution:
Middle term = median
Middle term = 4a
4a =8
a=2

[(Statistics) 7th Term 3 School Book - Pg.No:

The median of the data 24, 29, 34, 38, 35 and 30 is
a.29 b. 30 c. 34 d. 32
e. Answer not known

SIS 24, 29, 34, 38, 35 wmmid 30 B&T 6L [HENELUIETE,
a. 29 b. 30 c. 34 d. 32
e. alemL  OFflwalevensv

Solution
Ascending order = 24, 29, 30, 34, 35, 38
30+34
= =32
2

[(Statistics) 7th Term 3 School Book - Pg.No: 109]

11. For which set of numbers do the mean, median and mode all have the same
value?

a.2,2,2,4 b.1,3,3,3,5 c.1,1,2,5,6 d.1,1,2,1,5
e. Answer not known

Ueteu(md etadl TG HHelled gymaf, @emLHensv BBID (WHB @67 w1

SimOU|D OFHTSHH 61gI?

a.2,2,2,4 b.1,3,3,3,5
Mweleenev

c.1,1,2,5,6 d.1,1,2,1,5

B Sy Sy —
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Mean = 3
Mode =3
Median = 3

[(Statistics) 9th New School Book - Pg.No:

Let m be the mid point and b be the upper limit of a class in a continuou
frequency distribution. The lower limit of the class is
a. 2m-b b.2m+b c. m-b d. m-2b

e. Answer not known

ewwowiligeiefll  m, GHTLT Mapeiemt Laedas ¢ Llflealer Guwed eevensy ‘b’
oTeUNleL DIHET SLD 6T606M6V

a. 2m-b b. 2m+b c. m-b d. m-2b
e. alemL  OFflwalevensv

Solution:
lower limit ; upper limit B idpoiilt
lowerlimit+b
N P |
lower limit + b = 2m
lower limit =2m - b

2m

[(Statistics) 9th New School Book - Pg.No:

Thevalueof (13+23+33+ ... +15%) - (1+2+3+....+15)is
a. 14400 b. 14200 c. 14280 d. 14520
e. Answer not known

(13+22+33+ ... +153) - (1 +2+3 + ...+ 15) ullesr 1wy eresren?
a. 14400 b. 14200 c. 14280 d. 14520
e. alenL  Gxflwailsvensv

Solution:

(n(n+1))2 n(n+1)
n(n -31) (n(n;i) _ 1J
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= 14280
[(Arithmetic Proportion Geometric Proportion) 10th New School Book -
Pg.No: 84]
If1+2+3+....+n = 666 then find n.
a. 37 b. 36 c. 38 d. 35
e. Answer not known
1+2+3+....+n = 666 aailed, N Q&1 DFHIL] HTeWIH
a. 37 b. 36 c. 38 d. 35
e. alowL  OFfwalsdensy
Solution:
n(n+1) 666
n(n+1) = 1332
n =36
[(Arithmetic Proportion Geometric Proportion) 10t New School Book -
Pg.No: 82]

A metallic sphere of radius 16 cm is melted and recast into small spheres
each of radius 2 cm. How many small spheres can be obtained?

a. 412 b. 512 c. 521 d. 421

e. Answer not known

16 Q.15 Seiten T o Geomslubg, 2 HSSIULG 2 0F.15 SFweitern &m
LIh&HIHEMTHBLILILLT60 615HFHN6 LIbHIH6T SHlenl &@GHLD?

a. 412 b. 512 c. 521 d. 421

e. alewL  OFfwalsvensv

Solution:
%;RB %:;;‘xlﬁxlﬁxlﬁ
n=-'i7r3= ’G—LE%EKEXE
3 ¥
=512

[(Volume) 10t New School Book - Pg.No: 301]

A sphere, a cylinder and a cone are of the same radius, where as cone and
cylinder are of same height. Find the ratio of their curved surface areas.

a. 242:42:1 b. 2:1:42 c. 2:42:1 d. 242:1:42

e. Answer not known

71
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a. 2\/5:\/5:1

c. 2:42:1
e. alewL  OFflwalsvensv
Solution:
Sphere : Cylinder Cone
4 zr? : 271’ , 277’

242 12 11
[(Volume) 10t New School Book - Pg.No: 285]

If %:% then (x + 5):(y + 8) is equal to

a.3:5 b.13:8 c.8:5 d.5:8
e. Answer not known

=% siedfled (x +5):(y + 8) &@ Flowrengl.

3:5 b.13:8 c.8:5 d.5:8
e. alemL  OFflwalevensv

X
5
a.

Solution:
X

—=Zthen

5 8

(x +5); (y +8)
x=5y=8
(x+5):y+8
10:16

Then

5:8

[(Ratio Proportion) R.S Agarwal Book]

18. A mat of length 180 m is made by 15 women in 12 days. How long will it
take for 32 women to make a mat of length 512m?

a.13 b. 14 c.15 d. 16
e. Answer not known

180 15 men(weitem @ UTulewen 15 Ouewiger 12 BT Hefed OFUiIHeoT. 5
mem(Ipeiten e UTullement 32 GUewIdeT OFUIL 6T5HFHMe BT H6TT LEGLD?
c.15 d. 16
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15x12 _ 32xD,
180 512
D, =16

[(Time & Work) 8t Term 3 New School Book - Pg.N

The product of 2 two digit numbers is 300 and their HCF is 5 what are t
numbers?

a.15, 20 b. 10, 20 c. 15,25 d. 10, 15

e. Answer not known

@yewi Ffevds eleuidaier OLmbSBUeVET 300 WLHBBILD SeuBpler 1566l 5
61601160, SIeUGleUGNTISHEIT WITen6eu?
a. 15, 20 b. 10, 20 c. 15,25 d. 10,15

e. alemL O flwalsvensv

Solution:
LCM x HCF = 300
LCM x 5 =300
LCM =60
from option: 15, 20

[(L.C.M & H.C.F) R.S Agarwal Book]

The number of number-pairs lying between 40 and 100 with their H.C.F. is
151s

a.3 b.4 c.5 d. 6
e. Answer not known

40 (1pxHe0 100 euemTU6ITEN 6T6mIH6T60 61 Hemedt 6lewl Cmmgsmeaier L5.CL.6u 15
BBEGID.

a.3 b. 4 c.5 d. 6

e. alemL  OFflwalevensv

Solution:
Multiple of 15 between 40 & 100
=45, 60, 75, 90
= 4 Pairs

[(L.C.M & H.C.F) R.S Agarwal B

¢ 8.94x8.94x8.94 —3.56 % 3.
8.94 x8.94 +8.94 x 3.56 + 3.56 x
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61 LOGILIL| 6T6dTe01?
8.94x8.94 +8.94 x3.56 + 3.56 x 3.56

a. 0.538 b. 5.38 c. 0.0538 d. 53.8
e. alewL  OFflwalsensv

Solution:
a=894
b =3.56

@b (asb)E et TF)
a’+ab+b’ (Eearet)

a-b=2894-3.56

= 5.38
[(Simplification) R.S Agarwal M
The value of F_(__BHJ{__S_@] is
3 2 3 12

a 1> b. 13 c. 2 =

6 6 3 3
e. Answer not known

4 (3)].[5.80]. ..

{E_GJHFTH]“ o5
a. 1E b. 13 C. 4 d. —4

6 6 3 3

e. alemL  OFflwalevensv

Solution:

{4 3} (—5 12)
— = |+ —=x—
3 2 30 30

17 (—2}
_+_
6 (3
17-4 13

6 6
[(Simplification) 8t Term 1 New School Book - Pg.No: 20]

The number of times an observation occurs in the given data is called
a. Tally marks b.Data  c. Frequency d. Numbers
ot known

B Sy —
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BE (0] ofled @(h LA 615HFH6m 61601 Fn MGG
SIDFH

b. gy
C. BBID6euewT d. erewiepeit
e. allewL  OFflwalsvensv

[(Statistics) 8th Term 3 New School Book - Pg.N

Two numbers are in the ratio 5 : 7. If the sum of these numbers is 108,
the larger of these two numbers is

a. 63 b. 49 c. 35 d. 42

e. Answer not known

O elemidaial alFHD 5 : 7T leubeusideilell gmBHe0 108 eleled  Sisuall(H
aTemiderMed Guiflul  eTeusr
a. 63 b. 49 c. 35 d. 42

e. alemL  OFflwalsvensv

Solution:
5x +7x =108
12x = 108
x=9
large number = 9 x 7x

=63
[(Ratio & Proportion) R.S Agarwal Model]

The line graph shows the annual percent profit earned by a company during
the period 1995-2000. Study the line graph and answer the following:

If the expenditure in 2000 is 25% more than the expenditure in 1997, the
income in 1997 is what per cent less than the income in 2000?

% Profit Income - Expenditure <100

Expenditure

a.22.5% b. 25% c. 27.5% d.31.25%
e. Answer not known

-
3
A

=
S
%
=

~
o8 80)
I/|‘_.l] \\/

B
.

Profit percentage
z

2
:
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QuIg6N  GUEMTLILLD (b

LWL S STLIGEID 1997 SIID HLEwNgesT QUHLOTET FHAIHLD 6I6I6I6TE| GH6DBEY?

% Seomuib = QUHLOTEID - GFevailerd <100

Q& evailerd

a.22.5% b. 25% c.27.5% d. 31.25%

Solution:
Let the expenditure in 1997 be x

Then, expenditure 2000 = x + (25% of x) = %x

Also, let the incomes in 1997 and 2000 be I; and I, respectively. Then,
for the year 1997, we have

45-17% q00= 2 L
X 100 «
1= 15% g 45y
100

0 55x 100]
2x
= 27 5%
[(Data Interpretation) R.S Aga

 —

=(2x—1.45x) = 0.55x

12|Page
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Split up

. S No of Que
1 | Simplification 10
2 | Percentage 3
3 |HCF/LCM 4
4 | Ratio/Proportion 3
5 | Simple Interest & 1

Compound Interest
6 | Area/Volume 2
7 | Time & Work 1
Reasoning
1 |LR, VS, ANR 0
2 | Puzzles 1
3 | Dice 0
4 | Number Series 0
A.P/G.P/, Number System, Statistics covered
under simplification.
1 |AP/G.P 2
2 | Number System 1
3 | Statistics 5

3
 —
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